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o V_PI'e_ase reed this inforr'nation befo'r_e _the exa'r'ni'r_tat_ion _'start__s.' ks

‘5 Th;s examlnatlon is 60 mmutes long

AII questlons should be attempted

A row of dots .' ......... denotes a spaoe for your answe

| 7' QO ‘e Where answers are not exact they shou[d be glven to three S|gn|f|cant f|gures unless

specmed otherW|se

The ) button on your calculator should be used for calculatlons unvolvmg T. .

r.
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o 1 (i) F}ewri’te all the{humbers'-iﬁ the following expreSsion qo_rrec@ to __1-si:gni_ficant' figuré;

104-163
. 2Ax88

©Answer: st ~

0

Answer: ..... (1)

i ok Sy

o5 (ii). Writing down all the figures shown on'ybu'_r caléuiatbr_,' find the'décimél value of |
A 104-163 |
@R AR

%, i A_n:swer_: et | RS R A @)
(‘i"v')VWrit'e. your answer to part iy N T AT A s

. (a) correctto 2 decimal places

............
..........................................

(b) correct to 3 significant figures

............
......................................
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2. (@ B _ -1 mile = 1.609 kilometres
The distance from Glasgow to Norwich is 378 miles.

Convert this distance to kilometres, glvmg your answer correct to the nearest
10 kilometres. ' . : : :

() | | " imetre = 1.094 yards
O A cricket pitch is exactly 22 yards long. '
' Convert this Iength to metres giving your answer correctto the nearest cent:metre

Answer: ................................................ m (2)
h{a+b)
(©) A =
Q i the formuta to find the area Aofa trapez;um where a and b are the Iengths of
- ~the parallel sides and h is the perpendicular height. :
'. The area of this trap_ezmm is71.4cm? el 45.5 cmr .

Calculate the height of the trapezium.

Answer: h= ............ i Cm (3)
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3. Twenty-four children go tenpin bowllng f i sthe kndckd o
" They bowl a ball each and count their score (the numberq - , g P

" The scores are as follows: L) o
6 5 8 6 7 6 2 7
o 5 8 7 8 5 7 ©

se figures.

{(a) Complete the tally chart below to show the
T fequency

score. | S otally o

~lolols

& e,

10

total | | (3)

(b) Using the chart to help you, or otherwise, write down

(i) the range of scores

ANSWEL: woeeeeeeremsearsasreimssnesesss (1)
(i) the modal Score

ANSWEL! ..veieicsiessresssasensmssssesss®s (1
(iii) the median score

ANSWET! .eeeeermnernmrasssssss s @
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(ib) the mean score

Answer: " (3)

i : _4.'_(a) '-Thle recipe for mskingapahcakes s s 7 " ”

1. egg _, ol @ __
125 grams - plain flour e R T
1300 mrllllltres milk - : e o g, b .

' 0 ~ On Shrove Tuesday, the cook has to produce 160 pancakes for Iunch
- What quantlty of eggs flour and milk does she need‘? 3

“Answer: eggs
? Bolldtu bt kllograms flour
' I|tres mllk'ﬂ- S (5)

o

(b) R03|e s lawn has 4 s:des _

The lengths of the sides are in the ratro of 3: 4 5:6
3 " The total length of the perimeter is 72 metres.
' What s the length of the shortest side of the lawn?

- notto scale

ANSWEL it (@)
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‘5. (a) Acircle has diameter 5 centimetres. |

- S.A. 2839328

g

N ]

-~ ;. p - - T A NPy
g P R AT W -

not tg
Size
Calculate '
(i) the cnrcumference of the cwcle
| _Answelr: g g e SRR A S cm ()
(i) the area of the circle '
ANSWET?  ooeeeeereverseerssesessaesssssnssssesans em®  (2)
(b) The diégram shows the template for making part of a cuddly toy.
it is made from a rectangular piece of felt measunng 15 cm by 20 cm. : _ :
Two semicircles, each of diameter 5cm, are added to each vertical S|de and .
another semicircle of dlameter 5cmis cut out at the top. a
A not to 0
scale :
- 20cm
v : 5



(i) Calculate the area of the design, giving your answer correct 1o the nearest

_ 10 square centlmetres

(i) Calculate the perimeter of the des:gn glvmg your answer correct to the

S.A. 2839328

nearest centimetre.

Answer:

7

........... cm - (3) |

Turn over



A iy i e

train fares were increased by 7%
his train tICket to London.

se’?

{a) InJanuary,
Up until then Mr Omar paid £13.60 for he increa
How much does he pay for his tlcket to London after t e

ANSWET! £ rerecririerssassrmnssssnersmsssnss it S (3)
(b) n April, Mr BreWer’s council tax was increased from £970 to £1013 65
(i) How much was the increase? L AR q
ANBWELY B commmusmomeswsmikassses g (1)

(i) What was the percenta{ge increase?

Answer: ........... _ SRS L % (2)

() In the sale at Bambi's Bout.'que there is a 35% d:scount off all or|g|na| prlces.

Pandora pays £52 for a silk shirt in the sale.
What was the original price of the shirt? _ | / ),
35% OFF
ANSWEN: £ oo (3)

S.A. 2839328 : ' 8




-not to
‘scale

. (iiy ABCDE'is a regular polygon, centre O. :
Caiculate the size of each of the angles marked ab,c and d

ANSWET. 8 = ieieeerreiesieneeeresonssnsns
B = s
6 = it iren
e IR
S.A. 2839328 . 9
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(i) Calculate the size of angle QPR. ER | e e
Answer: [ T IR RS S - (2)
P, @and R are three towns.
Qs due north of A.
(ii) What is the bearing of / from P?

=
-

Answér: SRRSO R L avrears
g, Simplify
() 54 + 48
_ Answer: ... ...... (1) |
(i) AP x 2b'c
ANSW: v e B

10
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(iil) (3c%)?

PIVBWETY discitinnpugonet st satssconnon (2)
(v) 64°—34°
12 -
ANSWET: .ot (2)
10. (a) Factorise completely
8y~ 16x2
CANSWET. e e (2
(b) Muttiply out the bracket and simplify
7b~ 3(3a— b) ~ 2a g
7 -Answer: ..................................................... (3)
SA 2839328 : : | -1 Turn over



| e o n-values,Ofkwhen :
1. (|) The table below shows some of the values of yfor the give TP L

y= X2 =1 e
X -3 | -2 -1 oo |1 ° -3
y 3 ]

(a) - Fi'II in the missing values in the table abO_VGg

. ' ' Gyt N,
(b) On the axes opposite, draw and label the graph of ¥y = X | 1

(i) Wheny=1x+1

T AR

- (a) .cor'npleté the .table of values
X 4. | 0 3
s (@)
(b) on thé axes opposite, draw and label the graph :of y = %x "+"1 )
| (m) Wnte down the co-ordinates of the pomt where the graphs of y = X% - 9 and
y= 2x + 1 intersect in the first quadrant.
ANSWET: (coviviiiornrn BFONE o S LR e )" (2))'
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12, A newsagent dellvers these 120 newspapers each morning:

25 Coutier -
44 Daily News
30 Globe

-21 Journal

, The newsagent wants to draw a ple chart to show this information-

(i) How many degrees W||| represent 1 newspaper7

ANSWEI: i (1)

- (ii)' Draw the fuily-’labelled pie chart.

| | 7 )
Last Tuesday, no copies of Giobe were available, but th |
Last Toes e i e e | e newsagent dellvered the
The newsagent then drew a ple chart to show the papers he had dehvered
(i) What was the size of the angle for Courier this time?
o
ATIBWEIL . Ly rvisiasssomsivecssrasiarsan e sspassanessdister” @
14
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13, Tho Hippo and the_thnO are two types of armo.ured bersonne’! cérriérs |
The Hippo can carry h soldiers and the Rhino can carry r soldiers |

(@) (i) 14 soldiers fill 1 Hippo and 1 Rhino.
Write down this information in terms of A and r.

ANSWET: ....vvvveo LI e (1)

(i) Write down the value of 3h + 3r

 ANSWEr: 3A + B3I = oo )

(iif) 54 soldiers fill 3 Hippos and 5 Rhinos. |
' Write down this information interms of hand r.

ATIEWEE . wiadissasnismsamammsism (1)

(iv) Showing your working, solve a pair of simultaneous equations to find the
@) = values of hand r. 7 _

Answer: h =

-----------------------------

TURN OVER FOR THE REST OF QUESTION 13
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A Hippo trnvol atan average speed of 24 km/h

A Rhino travols at an average speed of 30 km/h.. o T
() erto ctown in slmplest terms, the ra’uo ot the average speéd Qf a Hippo1io the

nvorngo spocd of a Rhino. t :

ANSWET: wecramasersimmmesreeene TS R (1)

Two outposts. X nnd Y, are 18 k||ometres apart connected by a road
At 1200 a prpo sots out from X to travel to Y.
At the same time a Hhmo sets out from Y'to travel to X along the same road.

(n) At what time do the vehlcles meet if both travel at thelr own average speed’? o c}}
| e 18km———>
ADBNBE o ov it bintbimn o e fooomesmss (3)

[T
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(Total marks: 100)



